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NEW QUESTION 1
What are two ways for a developer to execute tests in an org?

A. Tooling API

B. Developer console
C. Bulk API

D. Matadata API

Answer: AB

NEW QUESTION 2
A developer has a Visualforce page and custom controller to save Account records. The developer wants to display any validation rule violation to the user. How
can the developer make sure that validation rule violations are displayed?

A. Add cuatom controller attributes to display the message.
B. Include <apex:message> on the Visualforce page.

C. Use a try/catch with a custom exception class.

D. Perform the DML using the Database.upsert() method.

Answer: B

NEW QUESTION 3
A custom Visualforce controller calls the ApexPages,addMessage () method, but no messages are rendering on the page.
Which component should be added to the Visualforce page to display the message?

A. <apex: pageMessages />

B. <apex: pageMessage severity="info”/>
C. <Apex: facet name=" message”/>

D. <Apex: message for="info"/>

Answer: B

NEW QUESTION 4

A developer created a child Lightning web component nested inside a parent Lightning web component, parent component needs to pass a string value to the child
component.

In which two ways can this be accomplished? Choose 2 answers

A. The parent component can use a custom event to pass the data to the child component,

B. The parent component can use the Apex controller class to send data to the child component.
C. The parent component can invoke a method in the child component

D. The parent component can use a public property to pass the data to the child component.

Answer: AD

NEW QUESTION 5

Since Aura application events follow the traditional publish-subscribe model, which method is used to fire an event?
A. ernit()

B. fireEvent()

C. fire()

D. registerEvent()

Answer: C

NEW QUESTION 6
The following code snippet is executed by a Lightning web component in an environment with more than 2,000 lead records:
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Which governor limit will likely be exceeded within the Apex transaction?

A. Total number of DML statement issued
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B. Total number of SOQL queries issued
C. Total number of records retrieved by SOQL queries
D. Total number of records processed as a result of DML statements

Answer: C

NEW QUESTION 7

An org has an existing Flow that creates an Opportunity with an Update Records element. A developer update the Flow to also create a Contact and store the
created Contact's ID on the Opportunity.

Which update should the developer make in the Flow?

A. Add a new Get Records element.

B. Add a new Update Records element.

C. Add a new Quick Action element(of type Create).
D. Add a new Create Records element.

Answer: D

NEW QUESTION 8

Universal Container is building a recruiting app with an Applicant object that stores information about an individual person that represents a job. Each application
may apply for more than one job.

What should a developer implement to represent that an applicant has applied for a job?

A. Master-detail field from Applicant to Job

B. Formula field on Applicant that references Job
C. Junction object between Applicant and Job

D. Lookup field from Applicant to Job

Answer: A

NEW QUESTION 9
A developer is debugging the following code to determinate why Accounts are not being created Account a = new Account(Name = 'A"); Database.insert(a, false);
How should the code be altered to help debug the issue?

A. Add a System.debug() statement before the insert method
B. Add a try/catch around the insert method

C. Set the second insert method parameter to TRUE

D. Collect the insert method return value a Saveresult variable

Answer: B

NEW QUESTION 10

A primaryid_c custom field exists on the candidate_c custom object. The filed is used to store each candidate's id number and is marked as Unique in the schema
definition.

As part of a data enrichment process. Universal Containers has a CSV file that contains updated data for all candidates in the system, the file contains each
Candidate's primary id as a data point. Universal Containers wants to upload this information into Salesforce, while ensuring all data rows are correctly mapped to
a candidate in the system.

Which technique should the developer implement to streamline the data upload?

A. Create a Process Builder on the Candidate_c object to map the records.
B. Create a before Insert trigger to correctly map the records.

C. Update the primaryid c field definition to mark it as an External Id

D. Upload the CSV into a custom object related to Candidate_c.

Answer: C

NEW QUESTION 10
A developer needs to have records with specific field values in order to test a new Apex class. What should the developer do to ensure the data is available to the
test?

A. Use Anonymous Apex to create the required data.

B. Use Test.loadDataO < > and reference a CSV file in a static resource.
C. Use SOQL to query the org for the required data.

D. Use Test.loadDataO and reference a JSON file in Documents.

Answer: B

NEW QUESTION 13
Universal Containers recently transitioned from Classic to Lighting Experience. One of its business processes requires certain value from the opportunity object to
be sent via HTTP REST callout to its external order management system based on a user-initiated action on the opportunity page. Example values are as follow

'>' Name
E" Amount

> Account
Which two methods should the developer implement to fulfill the business requirement? (Choose 2 answers)

A. Create a Lightning component that performs the HTTP REST callout, and use a Lightning Action to expose the component on the Opportunity detail page.
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B. Create a Process Builder on the Opportunity object that executes an Apex immediate action to perform the HTTP REST callout whenever the Opportunity is
updated.

C. Create an after update trigger on the Opportunity object that calls a helper method using@Future(Callout=true) to perform the HTTP REST callout.

D. Create a Visualforce page that performs the HTTP REST callout, and use a Visualforce quick action to expose the component on the Opportunity detail page.

Answer: AC

NEW QUESTION 18
Universal Containers wants to back up all of the data and attachments in its Salesforce org once month. Which approach should a developer use to meet this
requirement?

A. Use the Data Loader command line.
B. Create a Schedulable Apex class.
C. Schedule a report.

D. Define a Data Export scheduled job.

Answer: D

Explanation:
Scheduling a Data Export job is the best way to back up all the data and attachments in a Salesforce org once a month. The Data Export job can be scheduled to
run at a certain frequency so that the data can be backed up on a regular basis. This makes it easy to restore the data in case of any emergency.

NEW QUESTION 19
An Opportunity needs to have an amount rolled up from a custom object that is not in a master-detail relationship.
How can this be achieved?

A. Write a trigger on the child object and use a red-black tree sorting to sum the amount for all related child objects under the Opportunity.
B. Write a Process Builder that links the custom object to the Opportunity.

C. Write a trigger on the child object and use an aggregate function to sum the amount for all related child objects under the Opportunity
D. Use the Streaming API to create real-time roll-up summaries.

Answer: C

NEW QUESTION 22
Which three operations affect the number of times a trigger can fire? Choose 3 answers

A. Process Flows

B. Workflow Rules

C. Criteria-based Sharing calculations
D. Email messages

E. Roll-Up Summary fields

Answer: ABE

NEW QUESTION 24
A developer is implementing an Apex class for a financial system. Within the class, the variables ‘creditAmount’ and ‘debtAmount’ should not be able to change
once a value is assigned. In which two ways can the developer declare the variables to ensure their value can only be assigned one time? Choose 2 answers

A. Use the static keyword and assign its value in the class constructor.

B. Use the final keyword and assign its value in the class constructor.

C. Use the static keyword and assign its value in a static initializer.

D. Use the final keyword and assign its value when declaring the variable.

Answer: BD

NEW QUESTION 25
What can be used to override the Account's standard Edit button for Lightning Experience?

A. Lightning action

B. Lightning component
C. Lightning page

D. Lightning flow

Answer: B

Explanation:

A Lightning Component can be used to override the Account's standard Edit button for Lightning Experience. This allows the developer to create a custom page
with custom fields and custom functionality that can be used instead of the standard Edit page. It also allows for the creation of custom navigation and buttons to
make the user experience more intuitive and efficient.

Reference: https://trailhead.salesforce.com/en/content/learn/projects/quick-start-lightning-components

NEW QUESTION 28
What are two ways a developer can get the status of an enquered job for a class that queueable interface? Choose 2 answers

A. View the apex status Page
B. View the apex flex Queue
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C. View the apex Jobs page
D. Query the AsyncApexJobe object

Answer: AC

NEW QUESTION 29
What are three ways for a developer to execute tests in an org? Choose 3.

A. Bulk API

B. Tooling API

C. Setup Menu
D. Salesforce DX
E. Metadata API.

Answer: BCD

Explanation:
https://developer.salesforce.com/docs/atlas.en-us.sfdx_dev.meta/sfdx_dev/sfdx_dev_testing.htm https://developer.salesforce.com/docs/atlas.en-
us.api_tooling.meta/api_tooling/tooling_api_objects_apextestsuit

NEW QUESTION 34

A developer needs to implement a custom SOAP Web Service that is used by an external Web Application. The developer chooses to Include helper methods that
are not used by the Web Application In the Implementation of the Web Service Class.

Which code segment shows the correct declaration of the class and methods?

A)

global class WebServiceClass |

rivate Boolean helparMethod() /* implementation ... */ )
F .

giobal String updateRecords () * implementati el F B
\
B)
webservice class WebServicecCla

private Boolean helperM . . ) I 4

gi0Dal STAaAtl t AT - 3 amantati . " -
C)
;__r - | i

~ "L"-' - 1
D)

i .

A. Option A
B. Option B
C. Option C
D. Option D
Answer: C

NEW QUESTION 36
Which two sfdx commands can be used to add testing data to a Developer sandbox?

A. Forced: data:bulk:upsert

B. Forced: data: object :upsert
C. Forced: data: tree: upsert
D. Forced: data:async:upsert

Answer: AC
NEW QUESTION 39
Which three Salesforce resources can be accessed from a Lightning web component? Choose 3 answers

A. SVG resources
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B. Third-party web components
C. Content asset files

D. Static resources

E. All external libraries

Answer: ADE

NEW QUESTION 44

A company has a custom object, Sales, } Help_Request__c, that has a Lookup relationship to Opportunity. The Seles Help Request__c has a mumber field,

Number_ct_Hours__c, that represents the amount of time spent on the Sales_Help Request__ C.

A developer is tasked with creating a field, total_Hour2__c, on Opportunity that should be the sum of all of the Number_of Hours_c values for the

Sales_Help_Request__c records related to that Opportunity.
What should the developer use to implement this?

A. A roll-up summary field on the sales Help_Request__c object
B. A trigger on the Opportunity object

C. Arroll-up summary field on the Opportunity object

D. A record-triggered flow on the Sales Help Request__ ¢ object

Answer: B

NEW QUESTION 48

Universal Containers stores the availability date on each Line Item of an Order and Orders are only shipped when all of the Line Items are available. Which method

should be used to calculate the estimated ship date for an Order?

A. Use a CEILING formula on each of the Latest availability date fields.

B. Use a DAYS formula on each of the availability date fields and a COUNT Roll-Up Summary field on the Order.

C. Use a LATEST formula on each of the latest availability date fields.
D. Use a Max Roll-Up Summary field on the Latest availability date fields.

Answer: D

NEW QUESTION 52

Which salesforce org has a complete duplicate copy of the production org including data and configuration?
A. Developer Pro Sandbox

B. Partial Copy Sandbox

C. Production

D. Full Sandbox

Answer: D

NEW QUESTION 53

What should a developer do to check the code coverage of a class after running all tests?

A. View the Code Coverage column in the list view on the Apex Classes page.
B. View the Class Test Percentage tab on the Apex Class fist view m Salesforce Setup.

C. View Use cede coverage percentage for the class using the Overall Code Coverage panel in the Developer Console Tests tab.

D. Select and run the class on the Apex Test Execution page in the Developer Console.

Answer: B

NEW QUESTION 56

A developer has the following requirements:

* Calculate the total amount on an Order.

* Calculate the line amount for each Line Item based on quantity selected and price.
* Move Line Items to a different Order if a Line Item is not in stock.

Which relationship implementation supports these requirements on its own7

A. Line Item has a re-parentable master-detail field to Order.
B. Order has a re-parentable master-detail field to Line Item.
C. Line Item has a re-parentable lookup field to Order.
D. Order has a re-parentable lookup field to Line Item.

Answer: A

NEW QUESTION 60

A software company uses the following objects and relationships:

« Case: to handle customer support issues

« Defect_c: a custom object to represent known issues with the company's software

« case_Defect c: a junction object between Case and Defector to represent that a defect Is a customer issue
What should be done to share a specific Case-Defect_c record with a user?

A. Share the Case_Defect_c record.

B. Share the parent Case record.

C. Share the parent Defect_c record.

D. Share the parent Case and Defect_c records.
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Answer: D

NEW QUESTION 65

A developer must implement a CheckPaymentProcessor class that provides check processing payment capabilities that adhere to what defined for payments in
the PaymentProcessor interface. public interface PaymentProcessor { void pay(Decimal amount); } Which is the correct implementation to use the
PaymentProcessor interface class?

A. Public class CheckPaymentProcessor implements PaymentProcessor { public void pay(Decimal amount) {}}
B. Public class CheckPaymentProcessor implements PaymentProcessor { public void pay(Decimal amount);}
C. Public class CheckPaymentProcessor extends PaymentProcessor { public void pay(Decimal amount);}

D. Public class CheckPaymentProcessor extends PaymentProcessor { public void pay(Decimal amount) {}}

Answer: B

NEW QUESTION 68
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